ADDING INTEGERS - B

ANSWERS

1. (-4) +(-8) = -12
4, (+3)+9=12

7. -1+8= 7

10. (-2) +(3) =

13. 2+ (-5) = —3
6. (-7)+(-2) =

19. +3 +(-8) = —5
22. 0+5=5

25. (-5)+4=-1
28. (-6)+0=-6
3. 4+ (-6)=-2
34, (-9)+1=-8
37. (-5) +(-8) =-13
40. (+1) +(-9) =-8
43, (-0)+3=3
46. 5+(-6) = -1
49, 8+2=10

52. 5+8=13
55. (-3) +(-7)=-10
58. -4+ (+8) = 4
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(+7)+
+2+0=2

(-1)=6

6+(-6) =0
-7+ 6 =-]

(+8) + (+4) =12
4+ (-8) =-4
-1+8=7
(-6) +4=-2
O+ (-5 =-5
4+ (-2)=2
+4+4=8
-8+3=5
3+(-3)=0
(-8) +(+1) =
+6-3=3
(-2) +(-7) =-9
+t6+ (-2) = 4
(-5)+7=2
-8+6=-2
(+4) + (+3) =7
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. 5+5=-2

(-3) + (-9)=-14
3+ (-7)=-4
-5 +(-6) = -11
-8 +(-3) = -1
tH1+2=3
-8 + 4= -4
3+(-9)=-6
O+ (-1)=-1
(-5)+8=3
(-7)+(-2) =-9



